Review Sheet for the Second Midterm of Economics 101 (Prof. Kelly)

The following is a list of topics that you should cover for the second midterm. This list should serve as a checklist for you to see whether you have studied everything you need to. You should expect questions on each of these topics on the exam. In order to do well on the exam you should review your lecture and section notes, and the appropriate chapters from the book. In addition, it is very important to work on the practice problems. Good luck!  

1. Real versus Nominal Values: It is important to understand the distinction between real and nominal values.  Real values are adjusted for inflation and are measured in constant dollars while nominal values are not adjusted for inflation and are measured in current dollars.  You also need to review the CPI:  this is a price index using a fixed market basket to calculate the change in prices that consumers pay from one period to the next period.  You should be comfortable calculating a CPI measure and using this CPI measure.

2. Consumer Theory (Chapters 10 and 11): The following concepts are important in Consumer Theory.

· Indifference Curve (Note that points on an indifference curve denote consumption bundles that give the same utility level to a consumer. A higher indifference curve (one further away from the origin) denotes higher utility.)
· Properties of normal indifference curves: They are downward sloping, never cross, and are bowed inward. 
· Budget Line (Slope of a budget line= -
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· Movement and shift of the Budget Line. A change in income without any change in prices will change the intercepts but not the slope. So the budget line will shift out (if Income rises) or in (if income falls) in a parallel manner. If only Px changes, the x-intercept increases without any change in the y-intercept. Analogous movements occur if the price of y changes. 

· Optimal consumption is given by the point of tangency of the budget line with the highest possible indifference curve.

· Income Effect and Substitution Effect. There is an easy way to distinguish between the two effects. The movement that takes place on the original indifference curve is the SE. This movement will be from the point of tangency of the original indifference curve and the original budget line (i.e. the original equilibrium) to the point of tangency of the original indifference curve and the imaginary budget line. Then, the movement from this tangency of the original indifference curve and the imaginary budget line to the new equilibrium (the point of tangency of an indifference curve and the new budget line) is the IE.  (Refer to lecture notes for this section most carefully).

· Price-consumption curve and Income-consumption curve.

· Derivation of the demand curve.

3. Costs of Production (Chapter 8): 

· The concepts of Short-run and Long-run.
· Total Revenue (TR), Total Cost (TC), and Profit. Profit =TR-TC.
· Opportunity Cost which can be divided into implicit costs and explicit costs.

· The differences between an economist’s view and an accountant’s view of costs and profit.

· Production Function

· Marginal product (MP) of an input. Marginal product of labour is a very widely used concept.
· The concept Diminishing Marginal Returns which says that, holding others inputs fixed, as the quantity of an input is increased, its marginal product rises first, reaches a peak, and then gradually starts declining. Marginal product may start declining right from the use of the first unit of the input itself.
· Various measures of Cost. Total cost (TC), Fixed cost (FC), Variable cost (VC), Average fixed cost (AFC), Average variable cost (AVC), Average total cost or simply average cost (ATC), and most importantly, Marginal Cost (MC). 
· ATC =
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. So marginal cost is the increase in total cost that arises from producing an additional unit of output.
· Shapes of the various cost curves. Most importantly, note the shapes of the ATC and MC curves. They are typically U-shaped.
· The relationship between the ATC and MC. Whenever MC is less than ATC, ATC is falling. Whenever MC is greater than ATC, ATC is rising. When ATC reaches its minimum point, MC=ATC. 
· Relationship between Short-run and Long-run Average Total Cost.

· Returns to Scale. If in  the long run, a firm increases its inputs proportionately, and output increases by the same proportion then the firm is said to experience constant returns to scale (and constant costs). If in the long run, a firm increases its inputs proportionately, and output increases by a smaller proportion then the firm is said to experience decreasing returns to scale (and increasing costs).  If in the long run, a firm increases its inputs proportionately, and output increases by a larger proportion then the firm is said to experience increasing returns to scale (and decreasing costs).
· Economies and Diseconomies of Scale.

Economies of scale
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Long-run ATC falls as output increases.


Diseconomies of scale 
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 Long-run ATC rises as output increases.


Constant returns to scale 
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 Long-run ATC stays the same as output changes.
4. Perfect Competition (Chapter 9)
1. Characteristics of a perfectly competitive market.
a. there are many buyers in the market;

b. there are many price-taking firms selling an identical product in the market;

c. firms can freely enter or exit the market.

2. Profit maximization condition.
Marginal Analysis: MR=MC

(If MR>MC, it’s profitable for the firm to increase its production; if MR<MC, it’s profitable for the firm to decrease its production.)

3. Firm’s supply curve and Industry supply curve.

Firm: portion of its MC curve that lies above the Shut-Down point;

Industry: firms’ joint MC curves.

(Other concepts: Break-Even point, Shut-Down point, LR industry supply and SR industry supply curves.)

4. Short-Run (SR) Equilibrium.

a. intersection of the SR industry supply curve and demand curve;

b. an individual firm may be making positive, negative or zero economic profits;

c. number of firms and sizes of their plants are fixed.

5. Long-Run (LR) Equilibrium-number of firms will be adjusted over time so that:

a. economic profits are zero so there is no more entry or exit;

b. long-run average cost is at its minimum so there is no more change in firm’s plant size.

6. Dynamics-effect of changes (permanent or temporary) in demand in the SR and in the LR.

7. Competition and Welfare (Efficiency).

Perfect competition is efficient as resources are used efficiently.

5. Monopoly (Chapter 14)
1. Definition and fundamental sources of Monopoly.

---Barriers to entry (examples?):

  a.  exclusive ownership of a key resource;

  b.  exclusive right assigned by the government;

  c.  economies of scale;

  d.  threat of force or sabotage.

2. Natural Monopoly.

---arises where it’s more efficient for a single firm to serve the society. (Examples? What will happen if we have more than one firm in the market?)

3. Profit Maximization Condition (for a single-price monopoly): MR=MC.

a. The demand curve facing a monopoly is the same as the industry demand curve;

b. MC and ATC are similar to those for perfectly competitive firms;

c. MR is less than the price: MR<P (why?);

  IMPORTANT:  

if demand is linear, P=a-bQ (a, b are positive constants), then marginal revenue is: MR = a-2bQ.

(Math: TR=P*Q=aQ-bQ2, MR=dTR/dQ=a-2bQ.)

d. The Monopoly can earn an economic profit even in the LR (there is no entry!).

4. Inefficiency of Monopoly.

a. Compared to an identical perfectly competitive industry, output is less and price is higher with a monopoly;

b. Less output and higher price will result in a loss in Consumer Surplus (CS) and Producer Surplus (PS) ---Dead-Weight Loss (Be careful: does PS have anything to do with the ATC curve?);

c. DWL, which measures the inefficiency of the monopoly, is graphically the area between the demand and MC curves for units between monopoly quantity and the efficient quantity.

5. Ways for policy makers to correct the inefficiency.

a. antitrust laws;

b. regulations (AC regulation and MC regulation);

c. public ownership.
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